Subject: Re: Why doesn't this work?
Posted by joseph.b.gurman on Thu, 09 Jan 1997 08:00:00 GMT

View Forum Message <> Reply to Message

In article <32D58AF7.51A8@cfht.hawaii.edu>, Tim Abbott
<tmca@cfht.hawaii.edu> wrote:

> Can anyone tell me why this doesn't work?
>

> | need to extract the four numbers from the string "[123:456,246:135]"
>
> Here is the code segment I'm trying to use:
> |DL> str = "[123:456,246:135]"
> |DL> reads,str,x1,x2,x3,x4,format="(4(1X,10))’
NN\

> % Unable to apply format code I to input: "]".
> 9% Execution halted at: $SMAINS$

> |IDL> print,x1,x2,x3

> 123.000 246.000 0.00000

> IDL> print,x1,x2,x3,x4

> % PRINT: Variable is undefined: X4.

> 9% Execution halted at: $MAINS$

Tim -

It looks like it's trying to read the final "]" because you're using
10 --- do you need to do that, or do you know that all your integer
strings will be three characters long? If so, of course, you could just
use:

IDL> reads, str, x1, x2, x3, x4, format = '(4(1X, 13))'
which gives:

IDL> print, x1, X2, x3, x4
123.000 456.000 246.000 135.000

Sorry if I'm missing the point; | thought it might have to do with the
lack of oxygen at the telescope....

Joe Gurman

J.B. Gurman / Solar Physics Branch/ NASA Goddard Space Flight Center/
Greenbelt MD 20771 USA / joseph.b.gurman@gsfc.nasa.gov

| Federal employees are still prohibited from holding opinions while at |

| work. Therefore, any opinions expressed herein are somebody else's. |

Page 1 of 1 ---- Generated from conp. |l ang. i dl - pvwave archive


http://idlcoyote.com/comp.lang.idl-pvwave/index.php?t=usrinfo&id=1216
http://idlcoyote.com/comp.lang.idl-pvwave/index.php?t=rview&th=5235&goto=7834#msg_7834
http://idlcoyote.com/comp.lang.idl-pvwave/index.php?t=post&reply_to=7834
http://idlcoyote.com/comp.lang.idl-pvwave/index.php

